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the HW, check your answer to

the truth table
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Yo
™ EXERCISE 15F

1  Write the converse and inverse for:

a If bx—2=13, then x=3.
(a) If =3 then 5z — 2 =13.
if 5x-2#13,then X#3

d If a figure is a parallelogram, then its opposite sides are equal in length.

a figu

ure has opp sides equal 1n length, then the

1HguIc 15 d palauclugi‘ai‘ﬂ.

Ifafigure is notapar, then then opp sides are not =

3 Write down the contrapositives of these statements:
a All rose bushes have thorns.

ame as:
If a plant is a rose bush, then it has thorns.

Contrapositive:
If a plant does not have thorns, then it is not a

rose bush
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¢ No good soccer player has poor kicking skills.

Same as:

If a soccer player is no good, then they have poor
kicking skills.

contrapositive:
If a soccer player does not have poor kicking
skills, then the player is not a bad player.

e If a person is fair and clever then the person is a doctor.

Contrapositive:

If a person is not a doctor, then the person is not
fair nor clever.
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5 Write down the contrapositive of:

b xisanumberendingin2 =z iseven

if x is odd, then x is not a number ending in 2.
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What would be the issues with
setting up a truth table for the
following compound proposition?

p V(M)
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will also be set up in a standard way
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Assignment:

Logic Assignment #4




